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1. Fillin the chart.

a. ig;ig\sesthe difference of 64 50 X (C?Li _36) KOXa¥ = l, L/OO

b. Divide the sum between 800 (800 + 70@) ,:’; 5 ISOO __:_ 5 = BCX)

and 700 by 5

c. The sum of 4 thirteenS and 16 (lfx]?)) + (!@X13) 59\+Q082Qé0

thirteen%

d. 12 times the sum of 6 and 12 ]9\)( ((O"{“ l&» ’&X[g: al(ﬁ
e. 1 Himgs the st of 11 x (24 + 45) [ X9=75
a4 and 45 159

’ imes the Sum . " i -
"% 534 and 990 sz g1 X122 Ty

2. Compare the two expressions using <, >, or =. For each, explain how you can determine the answer
without calculating.

a. 100x8 @ 25 % (4% 8) (26)\"13)(?

oo XY

b. 48x12 @ 60 twelves — 13 twelves (DO - ,% - Ll 7
U tuelyes are ﬁ”f%ﬁf Hran Y7 +ioelves

C. 24x36 @ 18 twenty-fours, trippled

|§ M'v’n[}yq(;uvs afaub[gg s Hqg Same QS 3“/7@@
Hevelore. 1% memj%-q(éuvs, bripled (s greatty Hian 343
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